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Let him say to him in the presence of two; Go! - 7 571 9582 7% R

Overview

Our X773 cites a Xn°°72 which states that an 72y 72y goes free with a q0w. The X773
asks if the X072 means a MINW 0w, why is it necessary to write a Mw? When the
master wants to free the ¥"y, all he needs to do is to tell the ¥"¥ in the presence of
two people;' ‘Go; you do not owe me anything anymore’. n1901n explains why the
X131 chose this method of freeing the 72y as opposed to another method.

Mmoo asks:

- 2139599% 7599 RY SNAN 951 390 29N 1Y N1 NI 7599 INNN 11209
It is astounding! Why does the X923 ask, ‘let him say to him in the presence of
two witnesses; “Go0”’!’ (instead of writing a "vw); why does not the X711 ask, ‘and

let him (the master) be 95p2% him (the v"v)’ -
- NT ININYY 909N RY 9137 19NY >3¥39 12y 19%9N 9NY

For even an "1v1> 72¥ whose body is owned by the master, goes out free through

2211 according to ®X12w who maintains -
= RIOY %9 119 (05 91 poss) NTIVA D993 999NY D) T59¥ PRI MINY RYY 112y 1>Dann

In > 295, one who is 2°po» his 110 72p, the 72V goes out to freedom and
does not require a note of emancipation, so why is a MMY VW necessary?!

mooin clarifies that his question is even according to the 7"n that 77w VA T°:
- “999nY V) 1098 TIINT N¥I 173y VPPONNT (3,0v) SN 1N 199N

And even according to the one who maintains that one who is 172y 2°p5% even
though he goes out free, nevertheless he still requires a 27w ©a -

' The need to tell him in the presence of two is that they should be witnesses so that the master will not be able to
deny it later. See ("07371"7) 1".

* By saying 1", the owner is forgiving the obligation the ¥"y owes to his master (it is considered a 72°nn); when he
is pon the ¥"v, the 17X is releasing completely his rights over the 72v. One difference will become apparent shortly.
? An °1w10 72y is a non-Jew who is a slave by a Jew.

* X217 responded to the s'xIm3 question (°7 121 ®°%7) that since an "p 01 ¥"Y therefore 1 (which is 72mn [see
footnote # 2]) would not be effective (you can only be ?m» something which is owed to you, but not something
which you own); however 1797 is effective [even] for something which you own (that is the meaning of 7p5:).
Therefore mpoin asks if the X773 would have asked, "117°po*Y, there could not be the response of X271 that "11p 11 ¥"y,
for an 5"V is certainly "3 1973 and nevertheless the master can be 7°pon him. [It would appear then that '01n question
is not merely on the X"177 of the X713, but even according to the X1pon; why do we need a 7ww (even though "1p 19,
nevertheless) 7511 is effective even if "11p 191 (as MdOIN explains). See K"w7An.]
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® Perhaps that is the reason the X3 did not want to ask 117999, because it still requires a 1w 3.
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mooIn responds:
- SNV 3 19NN 1 T NN nYPan ovnN N

That requirement for a MW ©3 is in order to remove the prohibition, so that he

be permitted to marry a 98™w> N2 (for initially he was forbidden since he is an ") -
= 9,9 59 INDAT NIVY D NNIY MY Taya 15 ON)

So therefore by an ¥''v there is no need for a X7 n22 17°n7> "ww, for without

the "vw an ¥"Y is permitted X7 N22. The question remains why did the Xxm3 ask X"
91 121 (which X237 answers), when the X713 should have asked, 117°p9" (for which X217 would have
no answer).

N1B0IN answers:
- 99913 MPOSY KAV 59 1Y WP 1IN NY 1159) 333 591 PRT 999 W

And one can say; that indeed it is so (that he can be P57 the 72¥ and there is no
need for a 70Y); however there was never a question why do we need a “vw, let

the master free him through 9»2:7; that is no question -
- S90WUn 125 MINK MNOYS YT XVIWIT

For it is obvious to the X773 that there are other ways of freeing the v"v besides

oW -
- 90VA 2090 PYY IMNK DY 55 NNY 90WI INOKINY NIYWI 9N 1YY NOWP 991 NN

But rather this was the difficulty the X772 had; even when the master wants to
release the 72y with a "vw, why do we need a "uw; the same language which is

written in the VW -
= (3,m9 97 0v) VYIINNI PNTI ‘[bS)’b NN 9D PN 12 HN N I»NT

Which is - as we learnt in the 71w in w97 P79 — ‘you are a free man’, ‘you

belong to yourself’ -
= 119 DY3 17 99N 1MINY PYH IMN

That very same language the master can tell the ¥"v orally, without writing it in a 0w -
- 'NnYYa 230 N9INN N9 NN NIN 7098 PRT PNYT XPYDT

For we assumed that all that is necessary for the 72v to be freed, is only 779°m2,

like the forgiveness by any kind of loan; a lender may forgive the borrower the loan by
merely stating it, without writing it; the same should apply to the ¥"y -

7 An 2"y is a non-Jew (see footnote # 3). A YX7w° n2 is forbidden to marry an 2"y.

¥ Just like there can be no question why do we need that he redeems himself with 103, when he can be freed through
W (or vice versa); similarly we cannot ask why vw when there is 75i1. They are two separate ways in which an
¥"y can gain his freedom.

? The x7»» initially assumed that the ¥"y owes his master so many hours/years of work, which is a monetary
obligation only. The owner has no rights (besides this monetary obligation) over the 72y. Therefore n1%°n (forgiving
this obligation) should be effective just as it is effective by any loan which is owed to someone.
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119 93 Hre9 PN TOWA 21NN PYY 13D 1993 593y 1Ay PIONT 91D
However at the end where X217 concluded that >1p 1233 592y 72 (it is not merely
a monetary obligation), therefore the language which is written in the "vw (and
is effective to remove this 7127 7°1p) is not effective orally.

Summary
An ¥"¥ can be freed through 2p5:1. The question of X W % nnY is that the very

same written words can be said orally (since we assumed that there is only a
monetary obligation owed to the master). The conclusion is that 137 191 requires a
“0w to nullify the 7137 1717,

Thinking it over

1. The rule 1s that 9577 needs to be done in the presence of three people. Perhaps
that is why the XT3 said T >0 *5X2 191 X9, that by 72°1n even two is enough?!"!

2. What is the meaning of "1p 112"

0 we require a PIp to remove the "13p 1913; this cannot be accomplished orally (for an oral statement is not
considered a 11 [merely a 77°ma]); however when this very statement (of 72°mn) is written in a Jvw it has the power
of a 11p.

" See mwn nbm.

12 See 1913 71"7°"w1 and '010 in RAOKR 7"7 2,y m»n2°. (See also MW NIR 777 anb n"a.)
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